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The area of the region bounded by the curves y* —x=4 and ¥ +x=2 is equal to
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Question 5:
The volume of the solid obtained by rotating the region bounded by the curves y=x, y=1,

and x=0 about the y-axis is equal to 3/ P); S )
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A particle moves along a line so that its velocity at time ¢ is Wt) =sint (measured in meters

per second). The distance traveled by the particle during the time period 0<¢< gg—- is equal to
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Question 7:
The volume of the solid generated by revolving the region bounded by the parabolas  y = x’
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and y =8x aboutthe line y=-1 isgivenby
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If £ is continuous on [0,1] and [ £(x)dx=2, then | F(1-x) dx= L;
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